

4.2

ROTACE: $\frac{1}{\sqrt{10}} \begin{pmatrix} 1 & -3 \\ 3 & 1 \end{pmatrix}$ PŘEVODI: $\begin{pmatrix} 1 \\ 0 \end{pmatrix}$ na $\frac{1}{\sqrt{10}} \begin{pmatrix} 1 \\ 3 \end{pmatrix}$

SHEDNOST :

$$\begin{pmatrix} x \\ y \end{pmatrix} \mapsto \frac{1}{\sqrt{10}} \begin{pmatrix} 1 & 3 \\ -3 & 1 \end{pmatrix} \left(\begin{pmatrix} x \\ y \end{pmatrix} - \begin{pmatrix} 1 \\ 1 \end{pmatrix} \right)$$

$$c(t) = \begin{pmatrix} t \\ t^3 \end{pmatrix} \quad d(t) = \frac{1}{\sqrt{10}} \begin{pmatrix} 1 & 3 \\ -3 & 1 \end{pmatrix} \left(\begin{pmatrix} t \\ t^3 \end{pmatrix} - \begin{pmatrix} 1 \\ 1 \end{pmatrix} \right)$$

$$d(1) = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$d'(t) = \frac{1}{\sqrt{10}} \begin{pmatrix} 1 & 3 \\ -3 & 1 \end{pmatrix} \begin{pmatrix} 1 \\ 3t^2 \end{pmatrix} \quad d'(1) = \begin{pmatrix} \sqrt{10} \\ 0 \end{pmatrix}$$

$$d''(t) = \frac{1}{\sqrt{10}} \begin{pmatrix} 1 & 3 \\ -3 & 1 \end{pmatrix} \begin{pmatrix} 0 \\ 6t \end{pmatrix} = \frac{6t}{\sqrt{10}} \begin{pmatrix} 3 \\ 1 \end{pmatrix} \quad d''(1) = \frac{6}{\sqrt{10}} \begin{pmatrix} 3 \\ 1 \end{pmatrix}$$

$$\mathcal{K}_2(1) = \frac{\sqrt{10} \frac{6}{\sqrt{10}} \begin{vmatrix} 1 & 3 \\ 0 & 1 \end{vmatrix}}{\left\| \begin{pmatrix} \sqrt{10} \\ 0 \end{pmatrix} \right\|^3} = \frac{6}{10\sqrt{10}} = \frac{3}{5\sqrt{10}}$$